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VTSI (Phiysics)

AL L S SRS S QEN——
(¥T7 W TR FT (A heat engine in each eyele does positive work and loses energy
as heat, with no heat energy input. Which law of thermodynamics does the engine violate?)

(A) ST 5 (zerath Jaw.) (3) S04 = ¢ (first law,)
(©) fedim T (second law.) (D)9 TR (third law.)
2. forr wffe s itw a0 L wfgeerm 87 (What s the current through the 4 £ resistor in the
circuit shown). , ' 2N
(A) 5/4 Ampete (1) 5/8 Ampere ' )
(€)1 Ampere (D) 4/5 Ampere Y

3,mwnmﬁaﬁmmﬁaﬁﬁmmﬁmmmr (=,
@elin v w® e o (A ray of light passes through three \

media as shown, Which order of the velocities is correct?) ' . @y
A vy >, >, Blyy > v >, -‘
Clvy > v > Dy >, >0 =y, \-’\

4, MWWWHWWWWWWW
S Xt ¥t o @R W7 (An ideal gas expands into vacuum in an insulated rigid vessel.
Which of the followings happens?)

(A) iy o= camon «ffirrds TH A (no change of internal energy.)
(B) ST Z57 *170 (a decrease of temperature. )
(C) BILofa COTEAT ARTET M (no change of pressure) (D) 11 o {a change of phase.)

5. = PO Tem oG L aniem M (0 a3 e o, v e B e (A piano wire has 3
length L and mass M. If its fundamental frequency is f, then the tension in the wire is:)

(A) 2Mf2/L (B) 4MLf? (© 4/ M D afmiL

6. 3 = 3piwe wArE 21 wol 7y e Bow welve T e e oo g et o v a3
T 7, T TG ARG O | 9% WO e T wn e @i T (When a highly
coherent beam of light is incident on a very fine wire, the shadow formed behind it is not just that of a
single wire, but rather looks like the shadow of several paralle| wires. Which one of the followings
explains this phenomenon?)

(A) & (refraction) (B) W (diffraction) (C) =% (reflection) (D) o fF T (Doppler effect)

1. V2 @t v awl i vfeifs e fim wagm =ofin = Mgl (A particle is moving with a
velocity of e/vZ. What is the kinetic energy of the particle? The rest mass of the particle is m,)

(A) 0.414 m,c? (B) 0.25 myc? (C) 1.414 mye? (D) 2.0 myc?

8. 10 kg v a3f wy4 Bom 2F Wi T ST TR W TR G W 60m/stl M s a3l
TYA S SF AT T ST I 00 O 7807 v 50 m/s? x, @ w1 M w9 (A force of
magnitude 2F acting on a body of mass 10 kg produces an acceleration of 60m/s?. If a force of
magnitude SF acting on a body of mass M produces an acceleration of 50 m/s?, then what is the mass

M?)
(A)33kg (B)4.8 kg (C) 21 kg (D) 30 kg

Bk
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Qo aed e e smm [ = I00sinZire Aspere AETEaY R = AT gﬁ‘ HAW -
st T WA W7 (An aliemating current is expressed by the cquation [ = 100sin2ne Ampere.
What is the root mean square value of the current?)
i it S ' ol 02 m T g 2.5 iz %ot & Hefms B e WA (What s
f10) ng simple harmonic motien of amplitude 0.02 m and frequercy 2.5
UR) 005 (B) 0.125 ms' (C) 0.157 ms" (D) 0304 s

1L SON @7 «3® =l @ 93 050 kg v wwew wEr 9o BEY TN MIET
foeel gl wiffre m ol “ﬁt@ﬁ‘ﬁ ¥y o edE TREH p, =06 aag gy = 0.8
W, UE m/s? 9T T[T W T (A horizontal force of 5.0 N pushes a 0.50 kg rectangular
body against a vertical wall. The body was initially at rest. If the static and kinetic coefficieats of friction
are t; = 0.6 and py, = 0.8, respectively then what i the acceleration of the body in units of m/s* 1)
(A)138 (8)2.0 (€) 6.0 (D) 8.0

12. @i v e fiy FREIEET Ty sl o i TR S T v, | S aw e A
AEW TR WofE = & Tem 5% T (The maximum speed of particle of a string canrying 2
sinusoidal wave is v, . When the displacement of a particle on the string is half of its maximum, its speed
is:)
(A) vy /2 (B)V3y,/2 (C) 29, (D) 3w, /4

13, a3 Py g WEhs g 3w o7 B = (57) Rema v o 3 ST T wifirs T
iy REfFTe™ A4 a9 2 uowoe 8 (A cermin nucleus, afler sbsorbing a neutron, emits a (i)
particle and then splits into two alpha particles. The A and Z, respectively of the original nucleus were:)
(A) 6,3 B)7,2 (C)7.3 (D) 8,4

14 ¢ WOH @@ B, r Wi oo yore e v TS T I06R (FUE (NS CROIR W 2
(A charge of magnitude e is travelling with a speed v in a circular path of radius r. The magnitude of the
magnetic field at the cemer of the circle is: )

(A) foev/(4mr?) (B) pgev/(2ar) (C) ugev/(nr?) (D) poe/(4mvr)
13, T SIAT 9T (I 7 (Which one s the unit of angular momentum?)
(A) kg m?s™ (Bykgms? (Cykgms" (D) hg m?s?

16, ¥R e 10110101, 20 LA M 10011, 97 fTRISTO e (The binary number found after
subtracting 10011, from the binary number 101101015 i5:)

(A) 10110010, (B) 10100010, (C) 101001014 (D) 10100011,

17, Be e WS ¥ Qe e oS T S 5 o2, T QFE W ST T U R 63 T
e @AY 300 m/s) 9% 12 TfER W0 e @y 7dRE @G 97 (Sound produced from & source is
heard by a person after 5 seconds, while the same sound is heard by another person after 6 seconds, The
speed of sound is 300 m/s. What are the maximum and minimum distances, respectively between the

T
{:: mﬂism (B)2.2 km, 0.20 km (C)2.8 km, 0.25 km (D) 3.3 km, 0.30 km
3
Ford joa12101
ﬂ.ﬂ i 10nﬂ Jj-

— i
T02 00030
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18, B celn, 3.5 e ¢, MO TR R 8,0 9% ¢, O T o @ W A+ b+2=
0 1 W |ex (axB)| @ W WM (Theee vectors 4, B and &, of magniudes 4,3 and 5,
respectively add t0 zero i.e. @ + b + & = 0, Then the value of | x (@ x b) | is:)

()12 (8) 60 © 25 2132

19. P o PR O g fep R TTER TR (Which one of the following quantities hes the seme

units of g /¢y7)
(A) (@) (velocity?) (B) (m)? (resistance?)
(C) GI¥F (¥ (magnetic field) (D)t &% (electric potential)

20. PR *Me v e fum e« T s fie 2o e R ww
WE? (An annular aluminium ring is made as shown in the diagram by cutting an aluminium sheet. What
happens when this is heated? ) .

(A) SmffaT 3w fe 3o @ ¢ fim @2 wewEa i (aluminivm
ﬂmdswmudmﬂﬂulwtcr:m:{nnh:m.}

(B) Pézr = %09 w1 (the hole decreases in diamater,)
mﬁmmwquﬁﬁmmmmwmmmmmgﬁﬂm _

(the area of the hole expands in the same ratio as that of the area of any part of the aluminium.)
m?@mwmmmmmaﬁwﬁ oT¥1 (the area of the |

+ hole expands in a greater ratio than that of the area of any part of the aluminium,} _

i[.iﬂmﬁiﬁhmmﬁmlﬂﬂﬁﬂﬁﬁﬂHMNFﬁmmmlﬁhﬁh
WS R TR T (Two vectors of equal magnitude are acting at a point. The value of the resultan
vector is equal to the value of either of the vectors. What is the angle between the vectorsT) '
(A) 0° (B) 30° (cy120° (D) 180°

2 mm&mmmfymmm T TR o o Ry o wm R aem
FIITH N T el awl e wste v wm 8 o fern W it com crefied
TRTa 1o T T@? (A car accelerates from rest on a straight road. A short time later,

decelerates to a stop. It then returns to its eriginal position in a similar manner. Which of the
graphs best describes the motion?)

x (A) xl (8) I‘ f ©  x (o)
t t r t
2. m-ﬂﬁﬁrﬁmﬂBmﬁnﬁMvmaﬁﬁmmwmhwmn & P

mww i T (m = < (Two waves Superpose 1o give rise to a dark fringe ata
peint in Young's double-slit experiment. The phase difference between the two waves at that point i)

the car
following

{A) &7 (z¢ro) (B) 2nm + /4 (C) 2mm + 7/2

24. T OGS OFIR ST +x W wem e o
sy =7 (If the electric field acts in the +x
constant), then the electric potential P=7
(A) =2ex (B) 2ex

D) 2mm+
IREATHE = o’ F, OO ¢ = 159, wR iy
direction and has a magnitude givenby E = cx? (herec =

s ©-cp3 D) ex?/3
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25, WRmem "TERTR S e w0 o oo Wi —136eV | wlie o s o oiE B (An
riw:iml! in the first Bohr orbit of & hydeogen atom has  total energy of =136 ¢V. What |s the otal
enctgy in the third Bohr orbitm

R (A)=15¢V Ny =J4ey iC) ~4.5 eV 1) =408 v

26. 951 WIek aran a2l e e efjege varse e o Blve coom fvme e,
E/B %3 XW 9% WX 2% T (In o plane electiomagnetic wave propagating in vacuum, the ratio of
the amplitudes of the electric to magnetic Gields, JI i S1unin is)

(A) R RIS 0, w (the angular frequency of the wave, @ )
(BYSTT M08 wmlAd], A (ihe wavelength of the wave in vacoum, 1)
(C) o7 TTT WO @, ¢ (the speed of light in vacuum, ¢.)

(D) SRE® &9, A (Planck’s constant, h )

27. 10 m's TS r Amén Tare oy e <3 v v Aoy il ondiu @R Ala
(FTE Y™ a) 7 (Which of the following four graphs comrectly represents a particle moving in a circular
path of radius r at & constant speed of 10 m's (a is the acceleration)?)

&
a {i’l} ﬂ\ :(B] nl :[C] n“ m
_l'r = r
r r

28, 2 6T T (Displacement is obtained from:)
' (A) G- I T T (RTR (the slope of the velocity-time graph.)
(B) et~ 7903 CTHTHTIR GT €47 1 (the slope of the acceleration-time graph.)
(C) ot 1w (er<foars: FRTS CoRIw (T (the area under the Yelocity-time graph.)
(D) - 7m (*3f5um FTsa CFaw (T | (the area under the acceleration-time graph.)
29. A6 SRR WIGR TSI T UiRe SRS XX aw v 13D ofE guw Vd £ O W O
S Rt o) o e e e ww s woa e R o w0 @ v oS awr el
FOR W WA (Two parallel long wires camy the same current and repel each other with a force F per unit
length. If both these currents are doubled and the separation between the wires is tripled, the force per
unit length becomes:)
(A)2F/3 (B) 4F/3 (C)2F /9 (D) 4F /9
30. 2z sifen CF O TG (40 ST TR AR AR ANCR FAH CRIE SO0T T ~
af% a1 T el wAws?. (In planetary motions - “the line joining the star to the planct sweeps out
equal areas in equal times", This is a direct consequence of which principle? )
(A) & s A (the conservation of energy.)
(B) SHRTH S [fE) (the conservation of momentum.) )
(C) - Tt et W1 (the conservation of angular momentum.)
(D) &t e M1 (the conservation of mass.)

http://www.pdffilestore.com/category/du-admission/
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- o Rmm frn gamte I M sRem Srde

- 2RNOy~2 KNO,+0, feflrDrs ores o oS e vop & 3

10 TR * e T @t

TATEA (Chemistry)

: -1
- Ti0y(s) @ CO(g) @7 emM R wwER TOBD =940 k) mol? ww —110 k] molly

Ti04(s)+2C(s)-+Ti () +2€0(g), % fafirwm v @wrefin s 97 (The “standard ey
of formation® of Ti0,(s) and CO(g) are ~940 klmol™ and —110 kj mol**, respectively, What is the
standard enthalpy change of the reaction Ti0 2(s)+2C(s)~Ti (s)42C0(g) ) .

{A) =830 k] mol? (B) =720 k] mol (C) +720 k} ol (D) +830 k] mol

. U @ Ne an werddt g cipenm 3% Aol s wiErgE e 1310 3390 $320 7450 11000

13300 71000 kj mol* | iz *pmrpe cerer omom TALR AT 57 (The first seven ionisation

energics of an element between Li and Ne are: 1310 3390 5320 7450 11000 13300 71000 k) mol™,
What is the electronic configuration of the valence shell of an atom of that elemen?)

(A) 252 (B) 252p! (C) 2si2p* (D) 2s%2p*

- CFF S A ST Beew o e T ANA? (In which atom or ion are the numbers of electrons
and neutrons equal?)
(A) 18e (B) '3F (C) 2Na" (D) Yo~

. 52 =R e om In(s)/Zn** (aq)[|Cu™* (ag) /Cu(s) @z Fese TTL? (Which one of the

following increases the potential of the Galvanic cell, Zn(s)/Zn** (aq)||Cu** (ag)/Cu(s) )
(A) increasc in [2n?*) (B) increase in [Cu’")

(C) increase in [Zn®*) and (o’ Jequally (D) increase i [2Zn*") and decrease in [Cu?")

Reaction enhalpy™ of which
reachion represents the “standard enthalpy of fommuanign ™)

(A) CO(g)+ ; Oy(p) =C0:(y) (B Hsigh> i Ox{pgh=H,0 ()
(CIROMR)+20, () =ho, () (D) K(s)+Mn(s) +20, () ~KMn0, (s)

.mmmmﬁumﬁrmmfdﬁnm:: TR R Y (Which Salt reacts with

concentrated sulfunc acid 1o form sulfes™)

(A) NaF (B) Nag) (C) NaBr (D) Nal

(Which elements are oxidised
and reduced respectively in the reaction, 2 ENO; -2 KND, +0.%

(A nitrogen and dpen () onvgen and nitrogen
(C) potassium and ovgen (D) rtrogen and potaagivem
AlLCl, uvh R ¢ R v weoe T TR T (How many covalent and

L sy n';'l-““uk"
{AdG, 2 (Big, | )80 7.0
T " mmm:urmwmum"

w0 denved from 3 menl in the firg transior ;
electrons in the 34 subshell What jon might 47" be) mety series hay five

(A} O {B) Mg

. Mhmmﬂtwﬂ:ufmmﬁ’]
AIMET<Na'<Ne (g ME** eNe<ha™

5{':} ha®aMgi~<n, (D) Mg** SNa* SNe

http://www.pdffilestore.com/category/du-admission/
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0. 9= S

6. a3ft
VRS T GO R 10 Creaes oy orou v djalba % W 70 i fsec? Bon a vifeen e

far (A nunning train is stopped In 10 secomls witl Drahe, Wihat wi the velochty of the tola If lts
average retandation was T0 m/sec? 1)

A -
’ [h': IN: ::u’sn LY B0 m /s L BRIV TS L) 800 g0 e
i A} =SNGy dmy Fﬁﬁﬂ C¥0 (e contie ol e ulrele 3v Wty Ay
(@) (1.2/23) (M {5/, 1) (L) (574, 1) (D (2/3,-1)

8. y=k =
t'" = Ay TGS = 2% + 4 TATAN ~0 g k99 0l N (The strulght line y w Jex - will be
Angenta the curve ¥ = A% 4 4 i wiie o the values of & is)

" :"l 11 s LB () ()4
: J; ]Tl! ik Y=l oot vt wRe ceonn AW (The mrea bounded by tlie lies y w2 and
¥ H s
(A3 299, i (1) 4 sq. unit (L7) 6 54, wnits (43} 8 s, unlta

10. "Permutation” *fla adetam W vaauha Ay Rada At ace alauaigs we e i Al

TAT (In how many ways the word “Permutation” can be rearmanged without changing the position of
the vowels?)

(A1 300 (H) 460 €y 459 () 359
11120 &% W09 T91 75 w9 f0 (N @At 65 o wham cutn | wend Beu ovmid ovor ¢
(Out of 120 students 75 play cricket and 65 play foatball How many of them play botls the ganies?)

(A) 10 -113) 20 (cy a0 ()43
12.J3 -il <3 SPEOla AR GFF (The solution set of the incquality [3-4 <t
m:é::xc;’- B)-f<x<-3 ©i<x<t ) imx>!
li.tan“;-}cos"%n? _ ?E*LG"
{A) tan~(5/9) (B) tan=(3/7) (©)r/2 (1) /4 Bo= \ 40
H.{x’+f_)‘~!ﬂi ﬁ?ﬁ?ﬁ x =% " (The x-free term in the expansion of (x' +§Jh i)
(A) 204 (8) 240 (€) 402 (1) 420
15. [ VeFdx =2
t-&]f{e")’”+c (B) Ve +¢ () 2e*R +¢ (D) +¢

| sin=1
16. j%ﬂd: =7
(A)sec®(sin™'x) +¢  (B)sec(sin™bx) + ¢ (O)In|sec(sin™ &) +¢ (12 Inftan(sin™ x)] 4 ¢
17.4 0% 15 *ffg M) WO 8 e aelre v e Fon o wenl olfe wemr 3 an
ofToe o SETE T2 (What is the probability that a number chosen randomly from 4 10 15 is o
prime number or & multiple of 37)

(A) 6/7 (B)5/12 (€)2/3 (D) 7/12
18, f(x) = "_‘_‘H TR @8 (The range of the function f(x) = ﬁ is)
(A)R-(1) (B) R - (0) (C)R=[0,1] (D) (==, 0)

19.y=>b a3t V3x—y+1=0 EINOR 995G {WINTA ¥ (The acute angle between the siraight
linesy=5b andV3x—y+1=0 is)

(&) 30° l‘.B}*iE-'!It {I} (C) 60° {?}92 |
¥ }h . 9 —-‘I_,, - 2
Ca.li-r'g'g’?. 3;/1, ".L. 3 T ¢ Ei
http://www.pdffilestore.&fm/cate é’r%du-admissiqm_/ -5-34- %~ £ x
e 1y R o T Sac>
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o %
We e1k G+ 6% goo*

.-t.'%-'g": 7 |
= =2
24.Cus0, 9 ety Tt o, ¢ S Bffredi Yo Rl a1 sTorat sy B et FEOE

i us0
(What mass of copper will be deposited if 0.5 A curcat 13 passed for 10 minutes through aqueous Cusy
solution? A, of Cu=63.5)

(A)0.0987 g (B)0.0897 g (C)0.0798 & ({0} B.GTE'?.E -
55 firge o T "EETs T P (Which one of the following compounds has the highest bol

point?)

(A) CHy (B) NH; (C) PHy (DY H;5
26, g caTs ST % a7 (Which of the following corrodes glass?)

(A) Hy50, (B) HNO; {C) HCI ‘ {u:.i HF _—
27. sp® WRTEwETeI w0 sp? WA RO 2 T8 (How many sp® hybrid orbitals are formed in

hybridisation?

(A)2 (B)3 (C)4 (s

28, Frgfere wae- feama fafirur Besmmmgz 17 (What are the products of the following redox reaction?)
KyCrs05(aq) + HyS0,(aq) + FeS0,(aq) ~ Products (BRFITE)
(ﬁl} H;SCI‘, Fﬁ{an,}h";ﬂ {B:I K}Sﬂ‘q. Cr,-t{Sﬂ*],. H;IJ
(C) Cry(504); , Fez (S04}, H20 (D) K;504, Cr3(50,)5 . Fe;(504); . H 0

20,0 X, CHy20, SE NayCrs0; WAy wifirs &0 ¥ ot 31 Y Gl wovt el ¥ HySO4 ﬂ
Befefors Rumrm e fafrm @ 2 v R w2 a7 waFe M (Compound X, CeHyz0, is
oxidised by acidified Na;Cr20; to compound Y. Compound Y reacts with ethanol in the presence of 2
little concentrated Hy$0, to give Z . What is the formula nf Z7)
fﬁ} CH;(EH;J;CH=EH CGIH m} CHal::H;}"CHzCﬂEH}EH]
{C) CH5(CH,)4CO,CH;CHy (D) CHyCH,C0,(CH;),CHy

30 Fsn REsm X @ Y $17(What are X and Y in the following reaction scheme?)

¥
CH,CHyCHBr = CHyCHaCH3CN ~ CH;CH;CHyCOOH

(A) X=NH,, Y=HCI (aq) (B) X=KCN in C;HsOH, Y=NaOH (aq)
(C) X=KCN in C;HsOH, Y=HCl (ag) (D) X=HCN, Y=NaOH (aq)
s (Mathematics)

I f(x) =1+ SHEADY ALY x-FTF RIS AT (The number of intersection by the curve
f(x) = 1+ x* with the x-axis is)

(a)o (31 ©e (D)3
2 y=(+2)/(1-x T L axwly =1 +2/0 —x) , then 2 equals)
(A)=2/(x—1)} ®z/(1—x%) (C)2/(1—-x)* (D) 2x/(1 = x)?
3. z=(-4+31)/i &% FF% =01 (The imaginary pantof 2 = (—4 + 3{) [l is)
(A)3 (B)4 (C)—4 {D)-3
4 "O+"GH G+ M=
(A)2"+1 (B) 2" (€)2» -1
5. W35 W W W P an dEy WET TR S 7 (What is the minimum resultant of two equal
forces of magnitude P7)
(A) 2P (B)0 (€ (D) /2
http://www.pdffilestore.com/category/du-admission/
3
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o0 ¥R = T4 01 = ]+ F 03 SR @11 (The angle between the vectors f = £+ and ’ :;;‘ k9
(A) cos™H(1/¥3) () cos™(1/3) (C)cos™(1/2) (2) :lns EI : oY

AMateyt e 2—dy+a=0 T a#fi v (One of the tangents 10 the circle x* + ¥ ¥
:A;::}l} (B)x=2 ©y=2 @y=4

22.cos? (60" + A) + cos™ (60" — A) GFTT (The value of cos* (60" + A) + cos? (60" — ﬂ:l‘lﬂ
(A)1-cos 24 (B) 1 +s5in 24 (C)1+3cos2A @1 "'_E""‘M

23 2rsin?(8/2) =1 97 wmcditn F (The Cartesian equation of 2rsin(6/2) = 11s)
(AP =1+2x (B)y? = 4(1—x) (©)y =401 +x) (D) =4(1+Y)

24.cotf cot 3¢ = 1 AR AT TN (The general solution of the cquation cot@cot36 =1 is)
(A) (2n + 1)m/4 (B) (2n + 1)n/8 (C)nmfh (D) (2n = 1)m/2

5.y =x+4 GW y=x GANE WY (The perpendicular distance between the lines y =x + 4 and
y=xis)
(A) 4 9% (B) 242 979 (C) 2 9% (D) 42 47T

26, x=1(-1+v=3) ﬂ“}’ﬂifﬂl—ﬁjﬂx1+xy+}r’ﬂ=ﬂﬂﬁ{ll‘x=§[r-1+-.r':§] and
r=%(—1-\r"—_3] {hen the value of 2%+ xy +y* is)

(A)0 (B)2 (©)1+v3 (D)1
2.y =4y -z +6x= 12 #EEad caT TR FR 7 (The type of the conic yl—dy—xt +6x=12
is)
(A) T (Circle) (B) B¥r3a (Ellipse) (C) TG (Parabola) (D) wfi7s (Hyperbola)
28, 2x* — By? = 2 sfirgcan TeraFgweR ¥ (The value of the eccentricity of the hyperbola 2x* — 8y* =
2is)
(A)13/(2v2) (B)3/2 (©)V5/2 ®) /572
29, um,-,ﬁﬁ =17
(A)0 (B)1/3 1 (D)3

0.x =Tx+2=0 FAewcH T TI2 =] efafR AR (The equation whose roots are less
by 2 than those of the equation —Tx+2=01I5)

v
{'!"..- %,P" (Ayx—d4x+6=0 (B)x*-=3x-8=0 (C)x*-1lx+8=10 (Mz?-3x+8=0

ST (Biology)

1. weafes A wiEm =% (The name of the largest bone of skull is)

(A) ¥R eTrs WY (Hyoid bone) (B) SIS (Mandible) (C) 1T (Ramus) (D) e (Maxills)
5. caTies st ey et smem w? (Which one hos superficial placentation?)

(A) Oryza sativa  (B) Nelumbo nucifera (C) Hetianthus annuus (D) Portulaca oleracea
3. iy aferarer o741 W (Radial symmetry is observed in)

(A) Crenophora (B) Gastropoda (C) Porifern - (D) Cnidaria

. 10
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3. R O vl few R SER D [ (Which of the following diseasss ovcurs dise o (he
etfoct of lethal gene™

(A} T 0 219 (Red-green colour blingssss) U SRR | Ihatassemia)

() RETRI (Haemogphilia) (DY EET R (Museular dvsirophy)
LTRSS R wmw asRe g (Luteinizing hormone influcnces)

(A ST I (Growth of dane) (B) ST R (Food metabolism)

(CVIFF9 (Blood pressure) (D) 15 G T (Funcrion of sex homone)
& Prx oo (3quid is an animal under the phiy humy

(AY Parifern (B) Platyhelminthes (C) Mollusea (D) Nematoda

7. TR RO oW e @ o 7RI T (Glisson’s capsule membrane is found in the following
organ of human body)

(AYEFE (Liver) (B U ( Pancreas)
(C) 7T &7 (Salivany glands) (DY % 2% |Gastric glande)

8. R R W W (The seientific name of Bostami Turtle is)
LAY Asplderetes hurum {B) Aspideretes migricans  (C) Chelonia mydas (DY Pangyhura recia
9. RIS MR G FBIED (Which one produces disease in tea plant?)

LAY Penlciflium (BY Phyrophehors LWV Afrernaria (DY Cephaleuros
10. Fess 7 B cOiRam TR (Which one of the foliowing plants has stomium™

(A) Riceda (B) Anthoceros () Preris (DY Hibiscus
11, R SRR TEGTES FREE T9E (Which microonzanism is capable of fixing nitrogen?)

LAY Bacillus (BY Acerobacter WOV Prendomonas (DY Nierobacrer
12, (o e o o GEERTL TET T (I which stage of cell division wirads are found?)

(A &R (Leptotene) (B) FIOFRR (Zvgetene)

(C) TRTRE (Pachytenc) (D) STERIEES (Diskinesis)
13. Rt icen smay (Number of teeth in guinea pig is)

{A) 20 (B)24 10128 (D1 Jo

14. Pros rafive Bafie® oo Ram e (Wkich one of the follon ing has imbricate acstivation?)
(A) Cassia sophera (B) Brassica mapus  (U) Lablab purpureus (U Pisaen saeiviem
15, Mo PR om e Sl <rF7 (Which organism forms greater numiber in pyramids of

(A) Beorra (Producer) (BY BT W (Pritman consumer)

(C) CTar T ¥ (Secondany consumer) (D) B € (Tertian consumer)
16. RPIATRS (W W e G T (Which type of cell contains hypnotoxin®)

(A) TR 7E (Sensory cell) (B) &% @ (Gland cell)

(C) FE=rsS (Cnideeyte) (D) =i (7 (Pseudopodial cell)
I7. TP T TEEEE T T (What s the pereentage of plasma in human blood™)

(A)45% (B) 250, (C)o5%, (1) 75%

18. Fr e s e re o (Which ene of the following prevents clotting of bload™)
(A) (RS (Heparin) (B)&F= | Thrombin) (C) TBES (Fikvin) (D) gveros { Thromboplastin
1
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19, S S w0l Grabr oif €T (How many rectus muscles are present in human eve?)
(A) b (8) (B)8 (1) ©eE) (D) % (6)

20, Frw el WE@FE? (Which one of the following is a phospholipid?)
(A) WP (Wax)  (B) 7R (Rubber)  (C) BT (Sitosterol) (D) PR (Cephalin)

21, %EbTEs Sreriee T DRfeR etew @ED?  (Which one is the termination codon for
polypeptide translation?)

(A) AUG (B) UGG (C) UGA (D) AGU
22. ATArEE @ oia &7 (Salamander belongs to which order?)
{A) Anura (B) Crocodilia (C) Gymnophiona (D) Caudata
23. & *fiug Qo= AT & (The manumal that lays eggs is) : @
(A) 3 (Rat) (B) TE (Pangolin)  (C) Tmg (Platypus) (D) FSFRET™ (Squirrel)
24, ¥ e e F 2 M7 (What Is the term used for the study of reptiles?)
(A) wresTfE (Herpetology) (B) srafFemfE (Omithology)
(C) myrarEfer ( Mammalogy) (D) woteeies (Malacology)
25, (AT DI "EEGN WIS @ (The smallest structural unit of cell wall is)
(A) Micelle (B) Micrafibril (C) Fibril (D) Fibre
26, #fiops R whet e ROTdEFe wadre @wi? (Which is the phenotypic ratio due to
complementary gene?)
(A) 15:1 (B) 13:3 (C) 97 (D) 9:3:3:1
27. o e ST “(fwen vy A (Plants those do not have vascular system belong to)
(A) Bryophyta (B) Preridophyta (C) Gymnosperm (D) Angiosperm

28, rTe c5vs RuTEE AT ¢ e wemfie zeww M (i gweiEE S (The enzyme inmlwd
in the reaction that converts glucose into ethyl sleohol and water is)
(A) Cellulase (B) Cellubiase (C) Zymase (D) Catalase
29. 'Enquiry into Plants' %[0 791 F1% (The book 'Enquiry info Plants’ was written by)
{(A) Carolus Linnoeus (B} Charles Darwin (C) Gregor Johann Mendel (D) Theophrastus
30. feea GeRoee SO <ie? (Which one of the following has hormogonia?)
(.}) Sargassim (B) Ociltatoria (C) Volvox (D) Zygnema

e
e e frafi-we s
(B) yae8 7 (C) yo%0 77 (D) sapn 30
S T | T eSS G 0 B S T e
(B) =i (C) mev (D) 7o
¢ Fosm o i reraek o T
(A) gt (B) m=w (C) xfar (D) Bt
4. MY B A aw w g v e e e e
(A) Rered _ (B) s g (C)iwm (D) wdw
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(A 0% (B s
C)vf®
vﬁf TETRT ®RL e . <3 i s
(A) SRperd () Sofemmm (©) weme
Phonetics” T SR v @Ry
n‘}mﬁm (B) =g FR
§ v el Porewdy 2
(A)==R (B) wre
O, T ITEEETT W O
A‘}“‘m ==fE (B) wmifis, weg B
¢ ] c A
;-u n‘r"?:t (B) e wrkx (C) wé wHexint
ﬁﬁ“ﬁmﬂﬁmmmwnmmmm
) TEE (B)== (C)g=
£, O TR O R O e T e
(A)== (B) = oot (C) wfirre
13, B <2 o3fE oy oy ©
(ANE R (B) Ve o (W RE
14, ‘IR TR - ¢ FE I
(A) sy . (B) v (C) wmr
15, B =0 s TR
(A) ==l wew By Em (C) e T aoRE
16, "= T=TWET 7 STOW TS eSS T
(A)=em (B) R (C)we=
17, ‘frow www =
(A) 5= (B) ez (C) ¥
18. Fow el e e e
(A) o s R Fe o (B) % e B
(C) S oo oS (D) ¥
19, =07 (v o W 40 G e R e
(A) S ERer e (B) iy sl (C) Erfls wiiw
20. ‘5% (R — % T AR (R e
(A) SwEm (By = (C) =t
21, AT COT N T
(A) =mm (B) Ry (C) fmn
(A) S+ 5% (B) Twf® (C) Sk
23, “cx fowt o, e AW TR £ W TR S
(A) >y (B) wiEm (O
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(D) *f
(D) e

(D) fefiwm

(D) estrffiren

(D) witw, T
(D) & Saricen
(D) Frar

(D) 7

(D) ¥t

(D) =t

(D) o g Fe
(D) oo

(D) @

(D) wowrs T
(D) 7

(D) fremg

(D) ¥5+%8

(D) el



http://www.pdffilestore.com/category/du-admission/

a4 fmn caA T AR

(A) st e safiew (B) sifi ity wrafie

(C) s i s (D) st iore s
25, *arTa TS i Wi st~ Pl of crei wfom e s

(A) e - (B) TS (C) et (D) Fedrrt
26, “wm ST i ol S _

(A) " (B) ¥5¥ (C) o (D) sremme
27, " e P e W o Hiftw areies Ses-nam _

(A)afe (B)e® () 7 (D) 8f
28. Sl =l e s TR

(A) wfitrs (B) wracan (C) e (D) S
20, ‘st e of oF TPRIET oo Ay

(A) wgmTTT (B) meiit (C) B wesgw (D) wfirrm
30. frosn oo ST (VTR A T

(A) o (B) ww (C) B (D) =it

TafE (English)

Read the following passage and answer the questions 1-5
Probably no beliel has been more tenaciously held among people of all times than the conviction that it is'
possible to judge an individual's mental chamcteristics by the way he is put together physically, Navelisis
describe the build, facial shape, coloring, and cloths of thelr characters in such a way as to accentuale the
inner qualities which they assume are expressed by tnese things. Intelligent men and women who “pooh-
pooh” the idea of fortune-telling in genesal still fel that “there may be something in this palmistry o
phrenology.” Books explaining persoitlity in terms of the glands obtain wide and enthusiastic
acceptance. Employment interviewers develop their own systems of judging prospective employees by
their appearance. Habits of thinking in such terms are ingrained in our language in such expressions as
“high-brow," “long-headed,” or "thin-skinned."

1. Nowvelists judge an individual's mental characteristics by ]
(A) telling formune  (B)appearance  (C) expressing acceplance (D) physical shape, color and cloths

2. ‘Prospective’ in the passage is afan

(&) adverb (B) noun (C) adjective (D) verb

3. Phrenology is ¢
{A) the detailed study of the shape and size of the cranium as a supposed indication of character and
mental abilities,
(B) the ant or practice of supposcdly interpreting a person's character or predicting their future by
examining the palm of their hand,

(C) the study of the movements and relative positions of celestial bodies interpreted ss having ar
influence on human affairs.
(D) the study of the shape and features of @ person's facial expression.

4. Asynonym of ‘sccentuate’ is .

(A) empliasive (B) oxness (T} forciell (D) include
http://www-.pdffifd8tére EomPedtedory/du-admission/
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FHEIn caeh blank with he WSt approprinte wordAvods (Questlons 6-30)
6. What does 13, ", K. stands for7

:2::::“” I‘.}.:hrfsi em (0 before the Cliist eni
. ore the common erp {13 before comman o
A 1‘hr_1min e Il throe tinios ghis week,
g :'_:"i.] it el (Idn has been (€') have been (1) 14 bty
f — Nardiy an wndersintement to sa that online searcl
the development of the Web, . ! e s sty vil
(A)is, was (1) Bias been, tins (C) is, has {12} ws, has
9. '\'l"l'mllnill'rrrﬁi‘cd me the most was how coie and rencied exaetly like you, said the banker 1o me.
(A) did e look (3) does lie look () he looked () could he look

1. Myou e environmental damage that plastic bags cause, the cost difference
really negligible
(A) consider, will () will consider, i (C) would consider, will (D) consider, is

Il Bangladesh has been one of the —_ in formulnting and implernenting a National Drug Policy in
the face of the massively powerful and global pharmaceutical indusiry,
(A) colonists; lucrative (B) pioneers, lucrative
(C) foliowers, unprofitable (D) followers, secondary

12, Succeeding in college often is a challenge for students, —» most colloges provide services
designed 1o help students,

(A) morcover (B) in addition (C) therefore (I3} as a resull
13. The woman sees the cat out in the rain;  the cal is pone by the time the woman pocs oulside.

(A) however (B) and (C) even if ([3) nfter all
14, The work was finished it and budgel,

{A) off, an (B} in, with (C) within, with (D} on, within
15. The troops mustered in front of thie garrison, Here, the word *muster’ means____,

(A) 10 find courage (B) lo summon (C) 1o gather (D) to come
I6. The child sat mute in the comer of the park. Here, ‘mute’ is oon

{A) noun (B) ndjective (C) adverh (D) verb
17. Where when you met him?

(A) does he live (B) was he living (C) was he live (D) is he living
I18. Which one is the correct spelling?

{A) chauffeur (B) chaufTar (C) chaffour (D) chuffeur

19, The world has seen many Diasporas but scholars have been studying the phenomenon great inlerest

only recent decades. ‘

(A) with, in (B) with, for (C)of, in {DY in, for
20. Snorkelling is one kind of ;

(A) diving (B} driving (C) walking (D) shooting
21. What is the meaning of the proverb, ‘the pot calling the kettle back'?

{A) be your own (B) never leave your root

(C) take your decision by your own conscience
(D) do not criticize somebody for a fault that you possess yoursell

2. My father live in Gazipur.
{A) use to (B) was use 1o (C)used 1o (D) was used 1o

]
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